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| N of associated tracks (simToReco) vs phi |

[ N of associated tracks (simToReco) vs pT |

N
<
(5]
[=]
. o
) o o — 0 = [T R s
Q S — 2 o
— - E = 2
£
Sd.1 pa1onnsuodey oney s
o
2,
O o
n
.|V W_. oy
3] 4 o
e I =
—— . o m
.............. a % .w
— s s
— | |
— g &
— =y =y
— — =) —
I I . —
.......... —...lo
S =14 |8 9 S
ol | — o o o
> — w_ W, >
20| — [SANe) m
of | —
D — s s
o =..l« |20 g
S| [ - a o =
of |t — .— * o ]
K I — k= ]
> - N — > 4
el ]:: B B — = IS ]
7 L1 Lits 11 i_' Lits L1 o e e B 4.nv « 'S )
— < ™ [ 2l [T R ) 2 5
5 5 5 5 AL : ;
z =
L sajpnredbunoel | sapiedbunioel | L saionredbunioel | oney




	Contents
	Page 1


